Opérations avec deux fractions mixtes (I)

Nom:

10.

Date:

Calculez chaque résultat.

52412 =
5 715

2g+5§=
5%+4g =
5%+11—2=
L xs? -
5——4% —
52 +2; =
22 455 =
1Zx57 =
5%—4% _

Note:
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Opérations avec deux fractions mixtes (I) Réponses

Nom:

10.

Date: Note:

Calculez chaque résultat.

2 14 2 2 1 2 11 22

5° 715 5 15 15 15 15 _ 3

0.5 _ 32 40 32 7 224 28
11 " 77 11 ° 7 117 40 440 55

1., _16.2 16 6 % _ 32 3
36 3 6 3729 8 29 29
51+11_3—E+2—%+2—@—6_5—7%
2 18 2 18 18 18 18 9 9
(L3182 4207 (3
1774 177 4 68 34 34

1 1 11 9 11 9 2

SRR T i S T S S

2 1 17 7 17 7 24 8

- 42— = —4 - = —4 - = — = - =
53+3 3+3 3+3 3 1 8
2.2 8. 17 _ 8,3 _ 24 _ 8
3°7°3 373 3717 51 17

3 5 8 50 400 80

1— - = - _— = _— = — = —
5% T 5%X7 45 9 8

51 43_21 19 21 19 2 1

4 4 4 4 4 4 4 2
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